# RESOLUTION NO. \_\_16-98 CITY OF CENTERVILLE, OHIO

SPONSORED BY	COUNCILMEMBER TAMES	SINGER	ON THE	20th
DAY OF APRIL	, 1998.			14

A RESOLUTION ACCEPTING THE BID SUBMITTED BY S. E. JOHNSON COMPANIES, INC. FOR THE 1998 CONCRETE REPAIR AND ASPHALT RESURFACING ROAD IMPROVEMENT PROJECT IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the 1998 concrete repair and asphalt resurfacing road improvement project in the City of Centerville according to specifications prepared by the City, and

WHEREAS, S. E. Johnson Companies, Inc. was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by S. E. Johnson Companies, Inc. for the 1998 concrete repair and asphalt resurfacing road improvement project, marked as exhibit "A" attached hereto and made a part hereof is hereby accepted in the amount of \$599,070.00 and the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. That the City Manager is hereby authorized to expend up to a total amount of \$600,000.00 in accordance with unit prices quoted in the bid submitted by S. E. Johnson Companies, Inc. in order to provide for additional work and contingency items deemed necessary.

allowed by law.	3. That this Reso	olution shall becom	ne effective at the earliest date .
PASSE	) this <i>20-th</i>	day of APRIL	. 1998
ATTEST:		Sally Mayor of the C	D. Buls) ity of Centerville, Ohio
Clerk of Council, City	Sauge 2 -		
	<u>C</u>	<u>ERTIFICATE</u>	
certifies that the foreg	oing is a true and of the City of Ce	correct copy of R	of Centerville, Ohio hereby Lesolution Number <u>16-98</u> the <u>2011</u> day of
		<u>maril</u>	Ilerk of Council
Approved as to form, with the Charter and Control Department of Robert N. Fard Municipal Attornal	Constitutional Pro Law Juhar	ovisions.	

### ADDENDUM #1 March 18, 1998

Submitted by: S.E. JOHNSON COMPANIES, INC.

... BID SHEET 1 OF 4

#### BIDDERS PROPOSAL

## CONCRETE REPAIR AND ASPHALT RESURFACING ROAD IMPROVEMENT PROJECT - 1998

Having	g read the specifications and examined the drawings included herein:
	Concrete Repair and Asphalt Resurfacing Road Improvement Project - 1998 City of Centerville, Ohio
unders	construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the igned hereby propose to furnish all materials and to perform all labor, as specified and described in the said cations and as shown in the Plans for the said work, for the following sums:
Α.	STATEMENT BY ALL BIDDERS:

The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.

Addenda No. #1	Date 3/18/98
Addenda No.	Date

# B. CONSTRUCTION COST INFORMATION (breakdown required)

The bid shall be broken down as follows and the grand total shall be the sum of all items.

DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
202 Concrete Pavement Removed, 8 and under	1800 SY	s <u>7.20</u>	\$ 12960.00
202 Concrete Curb Removed	3500 LF	\$ 3.35	\$ 11725.00
202 Concrete Driveway Removed	250 SF	s_1.45	S 362,50
202 Curb Ramp Removed	1500 SF	s .95	\$ 1425,00
202 Sidewalk Removed	1500 SF	s95	s 1425.00
203 Side ditch re-grading	15 HR	s 75.00	s 1125.00
252 Full Depth Rigid Pavement Removal & Flexible Replacement	2900 SY	s 29.50	s 85550.00

,		•		
AD	DENDUM #1 . March 18, 1998			BID SHEET 2 OF 4
DES	SCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
253	Concrete Joint Milling and Repair	2500 LF	s 12.50	s 3/250.00
253	Pavement Repair	500 SY	s 41.50	s 20,150.00
253	Undercutting	10 CY	\$ 60.00	\$ 600.00
254	Pavement Planing with millings to Contractor	27600 SY	s 1.05	s 28,980.00
404	Asphalt Concrete, 4" driveway	1000 SF	s 4.00	8 4000.00 184380.00
404	Asphalt Concrete; 1 3/4 " to 2"	6585 TONS	\$ 28.00	s-184
407	Tack Coat; 0.2 GAL/SY	11650 GAL	s,25	\$ 2912.50
452	Concrete Pavement, 7" thick	1800 SY	\$ 25.00	s 45,000.00
452	Concrete Driveway, 6" thick	125 SF	S_5,00	\$ 625,00
452	Concrete Driveway, 8" thick	125 SF	\$ 6.40	\$ 800.00
603	12" Pipe Rebuilt	24 LF	s 45.00	\$ 1080.00
603	12" Pipe Replaced	50 LF	\$ 45,00	\$ 2250.00
604	Major Catch Basin Repair	25 EA	s 575.00	s 14375.00
604	Major CB Repair with 1 pipe section	2 EA	s 700.00	s 1400.00
604	Minor Catch Basin Repair	32 EA	\$ 300.00	s_9600.00
604	Catch Basin, 2x2, I/S new	2 EA	s_850.00	\$ 1700.00
604	Manholes Adjusted to grade	25 EA	s 175.00	\$ 4375.00
604	Water Valves Adjusted to grade	25 EA	\$ 50.00	s 1250.00
605	4" Underdrain under grass	100 LF	s 8.00	\$ 800.00

50 LF

1500 SF

605 4" Underdrain under driveways

608 4" Sidewalk - concrete

\$ 15.00 \$ 4.00

ADDENDUM #1 MARCH 18, 1998 BID SHEET 3 OF 4			SHEET 3 OF 4
DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
608 6" Curb Ramps - concrete	1500 SF	s_4.00	\$ 600.00
609 Concrete Curb and Gutter - replaced	3500 LF	s_ <i>13.70</i> _	\$ 47950.00
614 Maintaining Traffic	LUMP SUM	\$ 9500.00	\$ 9500.00
825 Crack Seal	13800 LBS	s_,75	\$ 10350.00
825 Crack Seal, Maintenance on Major Thoroughfare & Residential Streets	32000 LBS	\$ <u>.8/</u>	\$ <u>25920.00</u>
Spec Geotextile Joint Fabric	30000 LF	s73_	\$ 21900.00
	SUE	TOTAL	\$ <u>599,070.0</u> 0
	GRAND TO	OTAL - ALL ITEMS	s <u>918,037.50</u>
ALTERNATE BID ITEMS: Street Pro	ogram Related		
DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
253A Pavement Repair - Special Type A - Montgomery County water main cuts	100 SY	\$ <u>55.00</u>	\$ 5500.00
253A Pavement Repair - Special Type B - Montgomery County water main cuts	30 SY	\$ 75.00	\$ 2250.00
254 Pavement Planing w/millings to City	27600 SY	\$_ <i>1.30</i>	s 35880.00
404 Recycled Asphalt Concrete; 1 3/4" to 2"	6585 TONS	s_27.50_	s <u> 181, 087.5</u> 0
202 Concrete Pavement Removed	2900 SY	s_7.50	\$ <u>21750.00</u> \$ <u>72500.00</u>
452 Concrete Pavement, 7" thick	2900 SY	\$ 25.00	s 72500.00

1000		
		N.T.
	COMPLETION DATE INFORMATIO	11.7

The bid price reflected above represents a completion date of August 26, 1998 except for Items 253A which	ch
equire a June 1, 1998 completion date and Maintenance Crack Seal and Residential Streets which requir	es
June 5, 1998 completion date. If an alternate completion date is proposed, it shall be specified hereafter	er.

	a suite 3, 1998 completion date. If all alternate completion date is proposed, it shall be specified hereafter
	ALTERNATE COMPLETION DATE
D.	CONTRACT PREPARATION INFORMATION
	The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.
	NAME OF COMPANY/CORPORATION: S.E. JOHNSON COMPANIES, INC.
	NAME OF PRESIDENT: J.T. BEARSS
	ADDRESS: 9350 HANCOCK CO. RD. 313
	CITY, STATE, ZIP FINDLAY, OH 45840
	FEDERAL TAX I.D. #:
	TELEPHONE #: 419-422-8854
	FAX #:419-424-5080
	EXECUTION OF PROPOSAL
NOTE	Failure to sign proposal shall result in rejection of bid.
	THIS PROPOSAL SUBMITTED BY: S.E. JOHNSON COMPANIES, INC.
	(NAME OF CONTRACTOR)
	BY: Def.McC
	(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)
	D.F. McCARRON, ASST. SECRETARY DATE: MARCH 25, 1998
	Contact person for Contract processing: DALE WELLS
	Mailing address if different from above: